o
mlo
ol
4
>
lo,
in}
>
r o)
X,
N
go
rlo
Py
rlo

O -V3< v/ v/
-2
®
o @ /(-3)2<
@_ o . (-2)?
3572 o

B

@ -

> ‘?_;2—2(= - V4)

5 \/‘/_)>(:4<3) > /(=2)*(=2)
@ 3(= Vo) > V8 e

pasnE




ol
-
g
-9

2. 0<a<249d, J(@a-22%+ /(2-a)?=3d5

@—2a+4 @ 2a+4 ® —2a-4
@ 2a-4 ® -2a

~&B

0<a<?2°H

—2<a-2<0, 0<2-a<20°]|2=2
V@=27+ /@=ay
=la-2[+[2 -4
=—(a-2)+2-a=-2a+4




3.

Vi<V2a+3b< VI5 &
(&, a.b & %)

D 7A @107H

® 1174 @ 137§

254

W12

® 157

B

\/7< \/m< ‘/ﬁ
7<2a+3b<15
b=1%9m, a=345
b=29 1, a=1,23,4
b=34m, a=12
b=4¥9™,a=1
1074




4.

“l<x<29d, /(x-2)2- /(

Ch "
=

[ 2
> ®eh: —2x+1




ohe O ¢tell Eof Sx.> A MeEy xy
Tafolet,
B7]
@ V201 © 150 V2
2

© -\5O-3 ® V010 /2

@ 3V305 ® +0.010 V0.1

» G

> HE: 9

B

DV2>1
© 15> V2
©®-V5<-V3

2
@ V0.1 < \/g
@3V3>5

® V0.01 < V0.1
wabA x =3,y =3 0|22 3x 3 =9 o|t},




3x—1<2 4 o, F=Hste A4 x go] N5 Fstolet.
> g kil
l= |

1 5
VBr-T<2,0<3x-1<4, z<x<g
whebA], THESH A4 x O] gh2 1 9] 1 7] ot




7. a<5d®, /(a-5)%- \/(-a+5)? & HEA AR A7

@D -2a-10 @ -2a @O

@ 2a ® 2a+10

Via=5)? - \/(-a+5) = ~(a=5) = (-a+5)
=-a+5+a-5=0




8. <12, /x+1)2-/(x-1)22 3] 5HH?

@ 2 @ -2 ® x+2 @ —2x ©2x

x| <1OB2 -1<x<1
x+1>0,x-1<0°]22
ViE+1)2- /(x-1)22=x+1+x-1=2x




®\/g<\/g @ 3<2v2

@1<\/§ ® 6 < V3

® 3v2>2+5

1 1
@ \/;> \/;
@ 3>2+2
®3v2<2v5

® 6> V35




10. 0<a<3 <9, /(a-3)2+ /(3-a)? & s3] 5oz},

[ 2
> ®eh: 6-2a

a-3<00]B&
V(@=32+/B3-a?=-(a-3)+(3-a)=6-2a




